
Time: 10 Minutes Paper Science 4 Total Marks: 10

1st Month, 1st Week, 5th Day Syllabus: Unit # 1 Vertibrates

Q.No.1 Encircle the correct answer from the following choices. (5)


i. Which one of the following animals belongs to vertebrate?

 


(a) Honeybee  (b) Cockroach  (c) Lizard  (d) Butterfly 
ii. On the basis on backbone, how many major groups of animals?


(a) Two  (b) Three  (c) Four  (d) Five 

iii. Which of the following animal is invertebrate?  


(a) Fish  (b) Frog  (c) Pigeon  (d) Starfish 
iv. Which of the following is a characteristic of invertebrates?

 


(a) Ability to move  (b) Have backbone 
(c) Have no backbone  (d) Growth 

v. Those animals which have no backbone are known as:


(a) Vertebrates  

 (b) Invertebrates  


(c) Reptiles   (d) Both a and b  b  a

Q.No.2. Define vertibrates. (2)

 


__________________________________________________________________

__________________________________________________________________

Q.No.3. Write names of 3 vertibrates. (3)

 


__________________________________________________________________

__________________________________________________________________
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